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(h) Répondre sur e questionnaye. Reéponses numirigues dans les boites,

Answer on the question sheets, Fill-in hoxes with mmerical answers, & T

() Les 7 guestions sond d ‘Coalr vuleur,
All seven questions have the same value.
() Donner e déteil de vos calenly,
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Shew all computation, ‘2 e
(e) Une femille coulenr de tabies sem distrilimde.
A one-page table or enlurad Paper will be distzibuted. | 3 /
(7] Tous les angles sont en RANIANS, Tester el gpuster votre raleulatree, | !
All angles are in RADTAN measires. Teat and adjust vour caleulators.
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Qu. 1. Resgudre fe systeme homao

yene: / Solve the homogeneons system
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Qu. 3. Trouner (e TOYON de conwvergence

Find the radius of eo nvergencs of the ser
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Qu. 4, Trouner les 6 premniers fermes of le terme général de fa solutron serie de dguation
rfterentieile
Find (ke first six terms and the general term of the series solution to she differcntial equation:
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Qu. 5. Swit ! Let :
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Calenler les conffivients fy ety de Fourter- Legendre powr -

Compute the Fourier-Tegendre coefEcients ap and q, for:
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Qu. B. Soit / Given -
1
i f:/ e " dr & 1.404,

1
Evaluzr 1. aw milthoniéme pres, pur ln guadvalure gaussienne 4 3 points en justifiont voire

réponae par les résuliats amtermeédiqums,
Lwvaluate 7. to six decimals, by the shree-point Gaussian formmls snd Jist ntermediary resulis
to justify vour answer

Luadrature gaussicnne / Gaussian quadreture
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Qu. 7. Soit le terme de Dervenr de e midthode des tropézes PO f Floida
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